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o5 & 16
25 45 65 85 105 125 2 A
i | 120 150 160 160 140
EmEme | 100 | 280 | 350 | 300 | 0 | |
Bre| mEe | 140 | 200 | 360 | 520 | s70 | |
CBEE | 150 | 180 | 180 | 140 | 70 | |
et 510 810 1050 | 1120 | 1550
sxe| mwEs | - 60 200 400 580
=t 510 870 1250 | 1520 | 2130
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BT BIORET 2 TEBRELHS i 0
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EN=ii #9120 #9150 #7160 #7160 #1140

559 #7100 #1280 #1350 #9300 #1380

REETES #9140 #7200 #1360 #9520 #1870

BE% #7150 #7180 #1180 #1140 #9170
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7. - AR (BA: A)
4/13R37F 10ARIRTE
il s E] BET 7 a3 ] =0
Epa)ii #9130 1910 %93 #9143 Epa)i #9120 %910 1 %130
EEmH #9220 1960 95 #9285 EEYH #9310 %950 #9320 %380
RERTES #9200 90 %90 #3200 REXBEE #7600 #3260 0 #1860
BEE #9120 %30 %930 %180 BEE #9110 %40 %940 #9190
= #9670 %3100 %938 %808 BET %91,140 %3360 #60] #91,550
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6/53R7E
il s E] &5
Epa)ii #9120 1920 #9320 #3160
E5mH #9260 170 %910 #3340
RERTES #9350 1910 %90 %360
BEE #9100 %960 330 %3190
BET #9830 %160 #60]  #J1,050
8/313 7
il s E] =0
Epa)i #9130 #9330 1 #3160
EE5mH #9230 1960 %910 #3300
RExTES %520 1 0 %520
BEE #9100 #9520 %920 #9140
=i #9970 %3120 %930 #91,120
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